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|--|--entry
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|--|--text
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@displayName="%%
R A4 FR”

DEO08. 10. 026
.00

|--|--]--|--value

xsi:type

Bk, K
R E

@xsi:type="ST”

|--|--entry

ARIEXH

|--|]--]-- Observation

HoboshH E,
@classCode="0BS”
, @moodCode="EVN”

oo---code

code

displayName

codeSystem

codeSystemN

ame

WARFEAE, H
e,
@codeSystem="2. 1
6. 156. 10011. 2. 2.
K
@codeSystemName=
" PAAE B AR T
Hx”
@displayName="%%
N

DEOS. 10. 026
.00

|--|--|--|--value

xsi:type

HNPIE AR, H
A E
@xsi:type="ST”

|--|--entry

FeRH B2k H

|--|]--]-- Observation

H o g B E
@classCode="0BS”

19



WS/T XXXXX—2013

, @moodCode="EVN”
code HRE AR, H
displayName i,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
e lcode ame ' R 17 DE06. 00. 315
@codeSystemName= .00
" AR B AR T
Hx"
@displayName="%%
BHER”
xsi:type HELHP, HAsh
|--|--|--]--value I..1 R HBiE
@xsi:type="ST”
6.7 RAHET
6.7.1 BAETHFEMRK
FH 2575 5% B s L3 16
x 16 HAETHREMM
% HA EH LR ji:p)
AT EENE N | 0.1 24 RbT7 BRVE N AR
rh 24 ALV 0..1 2 LR T A
24 F 24575 1% 0..1 H 2 25771 A
6.7.2 MAFTTEREAM
M EF e R AR NAELLT.
x 17T HAAENTERANR
TR B | M| Ak | woSHE | L
TOHRRAF
component Fﬁéﬁﬁiﬁ?ﬂﬁiﬁii
|--section
Hrp, @code="
10160-07,
@displayName="
HISTORY OF
MEDICATION USE”,
|--|--code 1..1 R ”
@codeSystem="2. 1
6.840. 1. 113883. 6
1.
@codeSystemName=
“LOINC”
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|--|--text NE i
|--]--entry w24 b T7 R g P 2
ok H
ook B E
|--|--|-- Observation @classCode="0BS”
, @moodCode="EVN”
code Hr,
displayName @codeSystem="
codeSystem 2.16;156.10011.2 DEOB. 00. 287
|--|--|--|--code codeSystemN 2210 00
ame @codeSystemName=
" AR B AR T
H "
xsi:type H i )
|--|--]--|--value »amr
@xsi:type="ST
i entry o 20 Ak A
oo B A
- Observation @classCode="0BS”
@moodCode="EVN”
code 2GR s, Ho,
displayName @codeSystem="
codeSystem 2.16;156.10011.2 DEOS. 50. 047
|-~[-[--[--code codeSystemN 2210 00
ame @codeSystemName=
" AR REdE T
Hx”
|-|-value xsi:type Hr, o
@xsi:type="ST
|--|--entry 2771 %H
TG T,
|--|--|-- Observation @classCode="0BS”
, @moodCode="EVN”
code WE PN,
displayName H,
codeSystem @codeSystem="
e code codeSystemN 2.16;156.10011.2 DE06. 00. 136
ame .2.17 .00
@codeSystemName=
" AR B AR T
Hx”
|--|--]--|--value Xsi:type Hr,

21



WS/T XXXXX—2013

| | | | | @xsi:type="ST”

6.8 {FMRiIIEET
6.8.1 {EFrRdiZET B

AR FE 5 45 4% H A LR 18,
R 18 (EFEERET % B

% B LK % 2R ik
BIT R IR 1.1 R X 8Ly I R VE A A
6.8.2 {EBTidiIEETITRAEM

fERE R E AR AR,
R 19 EREEEHTRAK

_ “ . XF LB T
TLER SR B HE | AR i ESE 3 .
PRIRRF
component Rt R E RO R
|--section
oo e R, S
H@code=" 8648-8”,
codeSystem @displayName="
code displayNam 1 R Hospital Course”,
o @codeSystem="2. 16. 8
40.1.113883.6.17,
codeSystem @codeSystemName="L0
Name INC”
|--|--text NBEH S
fEBE it AR RS 4
|--|--entry
H
classCode Hr
|--[--|--Observation | moodCode | I..1 @classCode="0BS”,
@moodCode="EVN”
code .
2T ISR HAS,
displayNam i
o , DEO06. 00. 296.
|--|]--|--|--code 1..1 R @code="DE06. 00. 296. 00
codeSystem 007, @displayName="
codeSysten 7 A
Name
i: t N E:X E) >~
fec|erf-—|--value xsls type | g | REIE
@xsi:type="ST

22



Mt R A
(ZERMMEMIR)

FHRHE R R

WS/T XXXXX—2013

<?xml version="1.0" encoding="UTF-8"?>

<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA.xsd">

<l--

sk 3k sk sfe sk sk sk sie ke sfe sk sk sk sl st s ske sk sk sie st s ske sk sfe sl st sfeoske sk sk i sk sfe sk sk sk sie sk sle sk sk sk sk st seoske sk sk skoskok skoskok

CDA Header

st s o s o ok o sk ko ok st ok sk sk sk ok sk ok sk ok s ks ok sk sk ok ok ok
>
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.62"/>

<l-- XCHYRAKS >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0042" codeSystem="2.16.156.10011.2.4" codeSystemName="_1 £ {5 B4t = R4t ik R />

<title>F&RHE e </title>

<le- SCAYPLASAE BT TE] >
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"

displayName="1F 15 [r] {1 2 Z¢ 1] " />
<languageCode code="zh-CN"/>
<setld/>

<versionNumber/>

<R G (BE)  [1..*] contextControlCode="OP" £/~ A5 B 1] LA & 4% -->

<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<l-AEBE 5 hRiR-->
<id root="2.16.156.10011.1.12" extension="0201306070"/>
<patient classCode="PSN" determinerCode="INSTANCE">
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<l--EF H kT -->
<id root="2.16.156.10011.1.3" extension="320211196102131629"/>
<name>7K K F</name>
<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName=""E# 14 5| {Li5% (GB/T 2261.1) " displayName=""5F %" />
<I-1HHEE R ) L R (D) >
<age unit="%" value="73"/>
</patient>
</patientRole>

</recordTarget>

<l-- XHBIEE >
<author typeCode="AUT" contextControlCode="OP">
<time value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<assignedPerson>
<name>Z % /f </name>
</assignedPerson>
</assigned Author>

</author>

<l RENI >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5" extension="4662860471"/>
<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<l-- %4 >
<authenticator>
< I >
<time value="201201121234"/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="P% % A\ A 4w fih"/>
<code displayName="%% H [ Ji%5 4 "></code>
<assignedPerson>

<name>Z% % 42 </name>
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</assignedPerson>
</assignedEntity>

</authenticator>

<authenticator>

<1<t A F I -

<time value="201201121238"/>

<signatureCode/>

<assignedEntity>
<id root="2.16.156.10011.1.4" extension="P% % A\ A 4w fidh"/>
<code displayName="%% \ [& Jfi% 4 "></code>
<assignedPerson>

<name>7k % £ </name>

</assignedPerson>

</assignedEntity>

</authenticator>

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>

<componentOf>
<encompassingEncounter>
<code displayName=" A5 H HAf &) "/>
<effectiveTime value="201201121220"/>
<location>
<healthCareFacility>
<serviceProviderOrganization>
<asOrganizationPartOf classCode="PART">
<!-- DE01.00.026.00%% /K5 -->
<wholeOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.22" extension="001"/>
<name>19 IR 5 </name>
<!-- DE01.00.019.00% 55 -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.21" extension="001"/>
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<name>177 )5 </name>
<!-- DE08.10.026.00F} = 4 FK -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.26" extension="212"/>
<name>/0» ) Fl</name>
<l-- DE08.10.054.00%% X # & -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.27"
extension="006"/>
<name>7\J [X </name>
<-BEITH SRR >
<asOrganizationPartOf
classCode="PART">
<wholeOrganization
classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5"
extension="001"/>
<name>XX & it </name>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</serviceProviderOrganization>
</healthCareFacility>
</location>
</encompassingEncounter>

</componentOf>
< | 3k stk st sk ok sk sk stk sk sk ok sk ok stk sk sk sk stk st sk sk sk sk stk stk sk sk stk ok sk sk stk skok ok sk ok sk

W HiABody

sk sk sk sk sk sk sk sk sk sk sk ste sk ste st sk sk she sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk skosko skt sk ke sk skt skoskoskoskoskoskok
-->

<component>
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<structuredBody>
<l--
sk st st sk sk sk sk sk sk sk sk sk sk st sk sk sk sk sk st sk sl sk sk sk st sk sl sk sk sk sk sk skt sk skeosie sk sk sk steoskoskoskeoskokoskeoskokoskokokoskesk
ER/S )
sk st st sk sk sk sk sk sk sk sk sk sk st sk skeoske sk sk st sk sl sk sk sk s sk sk s sk skeosk sk sk sk sk skeosie sk stk steoskosk sk skokoskoskokoskokok skesk
>

<component>
<section>
<code code="10154-3" displayName="CHIEF COMPLAINT"

codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<entry typeCode="COMP" contextConductionInd="true">
<l- EYf-->

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.119.00" displayName=""F 5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 &4 ¢ H 3¢"/>
<value xsi:type="ST">—J& /] 57 % J5 RIK AN, LM E, Tk E T,
WM, BATENARR S SRR C I B, ERAEIRSFSE, B 5E 3 2 R</value>
</observation>
</entry>
</section>

</component>
< | 3k stk st sk ok sk ok sk sk sk sk sk sk ok stk sk sk ok skeske stk stk sk stk stk sk stk ok sk sk skok ok ok skkok

MBI 8
sk st st sfe sk sk sk sk sk sk s sk sk sk sk ste sk sk sk sk sk ste sk sk skeoske sk ste sk sk sk sk sk sleoskeosk sk skt skeosie sk skeoskokoskeoskokoskokoskeskokok
>

<I--ABgiZWi & 15>

<component>

<section>
<code code="46241-6" codeSystem="2.16.840.1.113883.6.1"

codeSystemName="LOINC" displayName="HOSPITAL ADMISSION DX" />

<text/>

<l-- APt it-->
<entry>
<observation classCode="OBS" moodCode="EVN ">
<code code="DE05.10.148.00" displayName=" A5 {# "
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 E &4 ¢ H 3¢"/>
<value xsi:type="ST">EHMEIR B LAMEARNE I . ANFRFE B BHE EAEMRIR :
LAMEARYE e, L4/SHEMRIE T, MEB AT, LISHEMCE RN, JIEIM A it K—% e B R . IEHERALS,
REHENATRE . THEBCTI & AEHECT R : PIZ AL, B GLnTae, WO A, T2 kAL,
MRS . IR SR g5 o, A S Eph . BEEBCTIM I N: AL, A0S _ERmAE, AR 2 Kk
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LB PEREAR: HREHERIR; DM, HiE: LMT 2B reHE, . B2 R %M. B =0
NCAI2SH R T &r, W s & B NTRFRE. R 36°C ki 84ik/4r WP 18¥Kk/4) IfLE
140/80mmHg. #EIEHE, FEHHnl, TRIREKR, BRRTIELL, FEHENWD, KEIEW, BEFRhE, M
EVNE, BEEIE. S8Rk RRETCE G, SkAME IR, TRiE, XU LS RFEE, K, T,
AEALE RS, FURIEARA T, MO B S EIE T, AU ST, RE A TRY &, 0%
84K/ 5, T, BIMENTIS X AR M SR B A . BT, IERESAK, IR SBkdmE, ATRRDD T AR i
Jo, THEIXANEE, NS AE. ATcil, REZAEEE M &S . SRR . ME i RS . HIEL,
A, kiz</value>
</observation>

</entry>

<I-- A\Bei2Wi-va s 12 Wit -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.024.00" displayName="\ Fi¢ 12 -t 2= 12 K i i
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 &4 ¢ H 3¢"/>
<value xsi:type="CD" code="K56.700"
codeSystem="2.16.156.10011.2.3.3.11" displayName="###H" codeSystemName="ICD-10"/>
</observation>

</entry>

<l-- NBEiZ - e 44 AR -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName="\ [ 12 -1 B 5 4 A S g
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F £ {5 H ¥4} 7t H 3¢"><qualifier><name
displayName="H" & 41X "></name></qualifier></code>
<value xsi:type="CD" code="BRY 021"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""ZJHiE 73 H 5EE ( GB/T 15657) "
displayName=""ct IS5 Ip5" />
</observation>

</entry>

<l-- ANBgiz Wr-mh B AR A S >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName="\ [t 12 -1 B iE {4 C g
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F £ (= H ¥4} 7t H 3¢"><qualifier><name
displayName="H1EE UF (A %" ></name></qualifier></code>
<value xsi:type="CD" code="ZYTX20"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""EJpiE 73 50EE ( GB/T 15657) "
displayName="9% % H.Z51E" />
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</observation>
</entry>
</section>

</component>

<Je-
sk s st sk sk sk sk sk sk sk sk sk sk st sk st sk sk sk st ske sl sk sk sk st sk sl sk sk sk sk sk skeosie sk sk sk sk sk skeoskosie sk skeoskoskoskok skeokok skeskok
I
sk s st sfe sk sk sk sie sk sk sk sk sk st sk sk sk sk sk st sk sk sk sk sk st sk sleosk sk sk sk sk skeosie sk skeosie sk skeosk sk skt sk skeoskoskoskokoskeokok skeskok
>

<S>

<component>

<section>
<code code="29548-5" displayName="Diagnosis" codeSystem="2.16.840.1.113883.6.1"

codeSystemName="LOINC"/>

<text/>
<I-%H:HHEo-->
<entry>

<observation classCode="OBS" moodCode="EVN ">
<code code="DE06.00.184.00" displayName="H Fi & /i"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F£: {5 B ¥k ¢ H 3¢"/>
<value xsi:type="ST"> B & i 2% it A B & </value>
</observation>

</entry>

<1 H A
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.024.00" displayName="H Rij 12 -7t 2= 2 b Jw i
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T4£ {5 & yc H 3¢"/>
<value xsi:type="CD" code="K56.700"
codeSystem="2.16.156.10011.2.3.3.11" displayName="### " codeSystemName="ICD-10"/>
</observation>

</entry>

<l-- H {12 Wr- B2 9 44 A5 >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName="H {12 Wi- [ 5 4 1L 5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F"£: {5 H ¥4} 7t H 3¢"><qualifier><name
displayName="H1[& 5 4 A% "></name></qualifier></code>
<value xsi:type="CD" code="BRY 021"
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codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""ZJiiE 73 H 50IEE ( GB/T 15657) "
displayName=""ct IS5 55" />
</observation>

</entry>

<I-- H A2 Wr-h BEE AR A S >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName="H {12 Wi- B iE A CHS
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F £ {5 H ¥4} 7t H 3¢"><qualifier><name
displayName="H" X iIF {545 "></name></qualifier></code>
<value xsi:type="CD" code="ZYTX20"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""ZJpE 73 50EE ( GB/T 15657) "
displayName="9% ¢ F.Z51E" />
</observation>

</entry>

<entry>
<observation classCode="OBS" moodCode="EVN ">
<code code="DE02.10.028.00" displayName=""r [ “[JU 2" ¥} £ 4L "
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F£: {5 B ¥k ¢ H 3¢"/>
<value xsi:type="ST">% & [ JIk KA IETC BBy, kSN IR, L%, W
AL R R, S, o, UEAMAEET, HURIEAR AL LSS, JolhoR. PIONEINsEiE &, U
WEIR EE, R L TRD & LFRANR/ Iy, 55, SIS XORE LB AT . IR, IREERAR,
ToHHE . SebdmE, BRI AR Ak S, o XN, NS E AR AN TUE, R N EEE IR R o SMARK .
MR LTRSS EIEL, B, Bkox. ARUBYE ROV EIE, SR, A, kiz. Wi2e2,
LR E E T E W, f RS, I KR EAT, MR, MREE, Rmnd, TETE,
SIS, IR AL, AR, RONAR, AWIEERE L, WAERE . I B, AR Si</value>
</observation>
</entry>
</section>

</component>

<!--

sk sk 3k sk sk sk s ok sk sk sk sk sk sk sk sk sk ste sk sk sk sk sk sk sk sk stk sk sk sk sk skesk sk sk stk skl sk sk sk sk sk sk sk kokoskoskokokok
YT RIE Y

sk sk 3k sk sk sk s s sk sk sk sk skl sk sk sk ste sk sk sk sk sk sk sk sk sk stk sk sk sk sk skesk sk sk stk sk sk sk stk sk sk sk sk kokosk skokokok
>

<RI 1>

<component>

<section>

<code code="18776-5" displayName="TREATMENT PLAN"
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codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>

<l-- AL BEEARE RS, BRI hou R R i L
2 >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.298.00" displayName="%% \12J7 X"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥k ¢ H 3¢"/>
<value xsi:type="ST">¥ N\ i2J7 i+ k& </value>
</observation>

</entry>

<!--JEMPEE-—>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE06.00.300.00" displayName="75 N5 %"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥ ¢ H 3¢"/>
<value xsi:type="ST"># S H G MIATZEAILFE (GB/T 16751.3-199</value>

</observation>

</entry>

<|--VEREFL-->
<entry>
<observation classCode="OBS" moodCode="EVN ">
<code code="DE09.00.119.00" displayName="7%: 7= % 1"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 i yc H 3¢"/>
<value xsi:type="ST">XJ 1] §& H I i @ S SR HUAH L4 e 1) 4 38 </ value>
</observation>
</entry>
</section>
</component>
<l
sk st sk sfe sk sk sk sk sk sk s sk sk sk sk ste sk sk sk sk sk steoske sk skeoske sk ste sk sk sk steoskosk skeoskosk skeoskoskoskokok skoskok
EERHO R
sk st sk sfe sk sk sk sk sk sk s sk sk sk sk ste sk sk sk sk sk ste sk sk sk sk sk ste sk sk skeosk sk skeosk sk skeoskosk skeoskokoskokok skokok
-
<component>
<section>
<code displayName="#%F}ic 3xt"/>
<text/>
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<entry>
<observation classCode="OBS " moodCode="EVN">
<code code="DE06.00.314.00" displayName="%%FHi 374"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 i ¢ H 3¢"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.56"
codeSystemName="#4FHr F R AL K" displayName="F4 N\ it %" />
</observation>

</entry>

<R >
<entry>
<observation classCode="OBS " moodCode="EVN ">
<code code="DE08.10.026.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #5570 H 5" displayName="%% H £} %= # F5"/>
<value xsi:type="ST"> ¥ tH L L = 4 R </value>
</observation>

</entry>

<R >
<entry>
<observation classCode="OBS " moodCode="EVN ">
<code code="DE08.10.026.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥4 7t H %" displayName="% N\ £} % £ F"/>
<value xsi:type="ST">J& F}</value>
</observation>
</entry>
<I--HRHH)-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.315.00" displayName="#%%} H "
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 & ¢ H 3"/>
<value xsi:type="ST">X] £ #F} H B4Rk </value>
</observation>

</entry>

</section>

</component>

<I--
sk s st sk sk sk sk sk sk sk sk sk sk st sk st sk sk sk st ske sl sk sk sk st sk sl sk sk sk sk sk skeoske sk sk sk sk sk skeoskosie sk skeoskoskoskokoskeoskok skeskok

EESEaY)

sk sk sk sk sk sk sk sk sk sk st ste sk st sk sk sk she sk ske sk sk sk sk sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk st st sk st sk sk sk sk skokokoskokoskokok
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>
<component>
<section>
<code code="10160-0" displayName="HISTORY OF MEDICATION USE"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>

<entry>
<observation classCode="OBS " moodCode="EVN ">
<code code="DE06.00.287.00" displayName=""+24 &b J7 [ g N 25"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_ 4= 15 B ¥4kt H 3%"/>
<value xsi:type="ST">X] i £ 4b 77 X V& N 25 1 7 4l 4 1R </ value>
</observation>

</entry>

<l R T k>
<entry>
<observation classCode="OBS" moodCode="EVN ">
<code code="DE08.50.047.00" displayName=""r 2 Hil & J5 %"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥k ¢ H 3¢"/>
<value xsi:type="ST">H Zj {1 §il & 7 i Hf 18 </value>
</observation>

</entry>

<1 h R 2 5 >
<entry>
<observation classCode="OBS" moodCode="EVN ">
<code code="DE06.00.136.00" displayName=""r 2] 24 J5 %"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥ ¢ H 3¢"/>
<value xsi:type="ST">H Zj [ FH 2§ 17 i ff i& </value>
</observation>
</entry>
</section>
</component>
<l--
sk s st s sk s ot sk s ke st st sk s ot s sk ke s st sk s st st sk ke st s sk s sk st s sk s ot s ke s sk st sk sk sk sk sk sk ok feskok
(R Sur )
sk st st sfe sk sk sk sk sk sk s sk sk sk sk ste sk sk sk sk sk ste sk sk skeosie sk ste sk sk skt sk skeosio sk sk sk ok sk sk skeoskokeskokokoskokosk sk
->
<component>
<section>
<code code="8648-8" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
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displayName="Hospital Course"/>
<text/>
<1297 i R RA >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.296.00" displayName="12J7 i F£ fifiik"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 & yc H 3¢"/>
<value xsi:type="ST">XJ & 127 i P FI A A </value>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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